Questions

= PART A |

a|Describe briefly radiation method and intersection 10 [L3 [CO4
method of plane tabling.

| |bID=fine two point problem. Explain the graphical method|10  [L3 |CO4
f solution of two point problem with figure.
¢ [Write a note on orientation of plane table. 5 2 iCO4
OR

a|What are he advantages and disadvantages of plane 1012 }C04
table.

b|Explain the method of resection by bessel’s three point |10 L3 |CO4
leraphical method.

c|List and explain the accessories used in plane table 5 L2 |CO4
‘sum‘:ying.

PART B
a|The following perpendicular offsets were taken at 10mf{10 % lCOf-t

-

Ftervals from a survey line to an irregular boundary
ine.
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&eren} methods of contouring il 2 [CO4

3 % OR . ._\. : =) "

[ :TE contour. Enumerate the characteristics of contour TOS|ERS |C04 2% @
fith sketches. §
railway embankment 400m long is 12m wide at the 10 L3 [CO4

|formation level and has the side slope 2 to 1. The ground|

evels at every 100m along the centre line are as under.

100 200 300 |400

2062 [207.5 [207.2 [208.3

| Distance inm |0
| [RLinm 204.8
| [The formation level at zero chainage is 207m and the

! mbankment has a rising gradient of 1 in 100. The
leround is level across the centre line. Calculate the

Ivolume of earthwork using trapezoidal and prismoidal

_ .r-ulr.é.
5 ;:_IExplain: a)Contour interval b)Planimeter 5 .2 |(CO4

pared by: Prof. sCi:;:‘: HOD
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